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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A F044£08 H 22 H eI Dt e/ 79 kv (Biir)
fh 4 JE Hh & Wae | %K F e T fE g2y ]
IENE AbE 10. 00| AHxf 170 1,700 2,160| 1,520 788
H X k¥ 15. 00 | ¥ 382 5, 730 972 885 837
X 5D FiE 10. 00 | #H%f 610 6,100| 1,048 663 432
E 9 NAE E B 4. 00| FH%f 48 192 4,320 4,124 2,030
H % i 3. 00| FHxf 27 81| 2,160| 1,820| 1,188
i A ] 1L 1. 00| FHxf 230 230 756 531 432
ENIE 5000 k%] 1] 5| | 2,160
AN B 5. 00| FH*} 352 1,760 1,512 1,212 648
ENIE 0.50| #xt| 3,073 1,537 130 91| 65
= m | 0.40| #Exf| 4,180 1,672 151 130 76
= %O 4. 00| AHxf 938 3,752 1,944 1,650 972
[N 5 5. 00| FHxf 113 565 1,512 1,122 702
EN R 5.00[#A%k| 1,148 5,740| 1,836 1,414] 756
v—< = 0. 15| FHx} 5,970 898 65 59 49
A7 k= b AbiEiE 3. 00| FH%f 1,051 3,153 2,592 2,129 1,728
ot E AL E 0. 10| FH%f 80 8 130 127 119
= m | 2.00( FERF| 2l 04| o72| 85| 432
H 7% w5 5. 00 [ FH %} 161 805 1,944| 1,549 540
FEEnsE AbifEE 10. 00| 4B} 56 560 1,350 1,292| 1,188
E F AbiEiE 10. 00| AHxf 493 4,930 3,024 2,894| 2,160
£ A L 10. 00 | ¥ 414 4,140 2,160| 1,648| 1,080
LA £ ¥ 10. 00 | #H % 885 8,850 1,458| 1,096 756
=l & k¥ 4, 00| FH*} 630 2,520 1,188 773 540
T AINT & ) 0. 10| FHx} 747 75 140 111 76
Tayal— &k B 4. 00 | FHxF 30 120 2, 160
L xHn TS 4. 00 | FHxF 3 12 3, 024
AMEE (i 0. 10| #Hxf | 3,850 385 146 112 59
ZDEHE & % 0. 20 [ A%} 450 90 65 46 43
LU £ ¥ 0. 20 [ #H %} 150 30 59
AA fa—yv £ ¥ 5. 00 | #H %} 110 550 1,544 1,417 1,404
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A F044£08 H 22 H EFER S 69 ko (Biir)
i 4 JE Hh = Wae | %K F e T fE g2y ]

sk Fell 10. 00 | #H%f 535 5,350 4,860| 4,455| 3,456
oK w5 10. 00| AHxf 437 4,370  4,860| 4,326] 3,240
T e 0. 35| FHxf 480 168 324 317 302
v A —3 ] 1L 2. 00| FH%f 43 86| 2,700| 2,474| 2,160
LR o JE 0. 60 | FHxf 78 47 389 324 248
EETE 0.30#A%t| 1,050 315 259 231 140

Avava 7 4 U ¥ | 13.00] fHxf 5 65 2, 484




